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SECOND YEAR HIGHER SECONDARY
SAY /IMPROVEMENT EXAMINATION, JUNE - 2023

Part — 111 Time : 2% Hours
POLITICAL SCIENCE Cool-off time : 15 Minutes

Maximum : 80 Scores

/

General Instructions to Candidates : \
e Thereis a ‘Cool-off time’ of 15 minutes in addition to the writing time.
e Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
e Read questions carefully before answering.
e Read the instructions carefully.
e (Calculations, figures and graphs should be shown in the answer sheet itself.

e Malayalam version of the questions is also provided.
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From questions 1 to 11. Answer for 16 scores.

Name the first state formed in India on linguistic basis.
(a) Kerala (b) Karnataka
(c) Bihar (d) Andhra Pradesh

Who is known as the ‘Milkman’ of India ?
(a) Dr. M.S. Swaminathan (b) K.N.Ryj
(¢) Varghese Kurian (d) P.C. Mahalanobis

Identify the leader associated with the slogan ‘Jai Jawan Jai Kisan’.
(a) Lal Bahadur Shastri (b) Morarji Desai
(¢) Indira Gandhi (d) Subhash Chandra Bose

Who was the first Non-Congress Prime Minister of India ?
(a) Charan Singh (b) Morarji Desai
(c) Deve Gowda (d) V.P.Singh

Find out the code name of ‘First Gulf War’.
(a) Operation Desert Storm
(b) Global War on Terror

(¢) Operation Iraqi Freedom

Expand the following :
(a) ASEAN

(b) SAFTA

(c) IPKF

Identify the place where the Earth summit was held in 1992 ?
(a) Kyoto (b) Riode Janeiro
(¢) Seoul (d) Paris
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Match the following :

(a)  Socialist Party (1) AK. Gopalan

(b) Communist Party (2)  Jayaprakash Narayan

(c) Bhartiya Jana Sangh (3) C. Rajagopalachari

(d) Swatantra Party (4) Shyama Prasad Mukherjee 4)
Match the following :

(a) Janata Government (1) Indira Gandhi

(b)  Garibi Hatao (2)  George Fernandes

(c) Railway Strike (3) Morarji Desai 3)
Fill in the blanks :
Punjab accord was signed between and
(Rajiv Gandhi, Lal Denga, Longowal, Hari Singh, Angami Zaphu Phizo) 2)
Fill in the blanks :
The UN Security Council has permanent and non-permanent
members. (2)
Answer any 4 questions from 12 to 16. Each carries 3 scores. 4x3=12)

Explain the ideology of the Swatantra Party.

Write a short note on Narmada Bachao Andolan (NBA).

Write a short note on the ethnic conflict in Sri Lanka.

Write the arguments in favour of India’s claim for the permanent membership in the
UN security council.

The world faces several environmental concerns. Identify any three amongst them.
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Answer any 4 questions from 17 to 21. Each carries 4 scores. (4 x4=16)

Explain the differences between First and Second five year plan.

Write a short note on Chipko Movement.

Describe the different stages of the rise of Chinese economy.

Explain any four security threats facing the contemporary world.

Explain the Economical Consequences of Globalization.

Answer any 4 questions from 22 to 26. Each carries 5 scores. (4 x5=20)

Examine the incidents and circumstances that led to the split in the Congress in 1969.

Explain the Political and Economical causes of declaration of National Emergency in
19757

Explain the internal and external issues of Jammu and Kashmir.

In 1990’s India witnessed five developments which has long lasting impact on our
politics. Briefly explain them.

After the cold war USA dominates all spheres of international politics. Explain any two
area of Hegemony.

Answer any 2 questions from 27 to 29. Each carries 8 scores. (2 x8=16)

Explain the process and consequences of the Partition of India.

Explain the causes of India-China War of 1962 and its consequences.

Explain the causes of disintegration of Soviet Union.
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